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2015 -
POWER SYSTEM -1l

Fratha wwa A e ] [ 3 ¢ 70

Time allowed : Three Hours] [Maximum Marks : 70

Tz (i) oy T AT 8 Sy & @ f gl & ST dod |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.

(i) mm@?mﬁwﬁwmwwmﬁﬁv /
Solve all parts of a question consecuitively together.
(iii) e e 1 79 g @ AR F |
Start each z.jucsn'on on a fresh page.
(iv) ﬁ#wﬁ#wﬁ##ﬁaﬁﬁaﬁ?ﬁméw? I

Onlv English version is valid in case of difference in both the languages.

fiarss i) < ST TR % g & o e |

Write any two advantages of high voltage transmission.

(i) Forefe g a5 e fefd |

Write names of supports of overhead lines.

(iii) o E e givet I e fered |

Write effect of ice on line sag.
(iv) Tl SHieet | o7 FI B SN e |

Write use of metal sheath in underground cable.
(v) TESTERH e fefed |

Write difference between guys and stay.
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(2) 1922
Waﬁq%aﬁmmﬁwﬁﬂwmwmww%?wﬁ I

What factors are to be considered for selection of voltage level of transmission
line ? Explain.

q.ﬁ.awéﬁﬁww’mﬁ%mamﬁﬁw |

Write the advantages and disadvantages of AC and DC transmission system. (6+6)
STET <RraT Y GHETEA AUl etk W i |
Explain string efficiency and derive expression.

mwﬁ%m%ﬁgﬁam%waaﬁﬁaﬂ?ﬁ‘@%

Write types of line conductors and also write their advantages and disadvantages. (6+6)

o7 TR TX T % A ot W T fell@d | HER e T 2ot i SRl
i a2

Write effect on tensile force on line when sag is increased. On what factors sag
of transmission line depends

300ﬁ}aﬁwmﬁﬁwanﬁwaﬁ§éﬁmﬁwwsﬂamﬁﬁé | afs
e T AR 1977 ke/km, =R S99 @ 18230 ke, TR OOH 2.5, WCTH H
ST 2.989 cm i TeTE T AEEE 120 kg/m? ¥ |

Find the sag of a overhead line having a span of 300 metre between line
supports. If weight of conductor is 1977 kg/km, ultimate strength 1s 18230 kg.
safety factor is 2.5, diameter of conductor is 2.989 cm and wind pressure on
conductor is 120 kg/m?. (6+6)

e ST S & ea ud A freer @ T fafy &1 avi S |

Describe the T method for finding efficiency and regulation of medium
transmission line.

TR AT T T i aUr St Y 7Tl T I |

Classify transmission lines and explain Ferranti etfect. (6+6)

ST FoRl W STaTT Seedr @t HE 9 9 it S s § = dieedl &
fareg & =97 1 I |

Derive the expression for point of minimum potential for a uniformly loaded
feeder fed at both ends with unequal voltage.
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o fgdR DC faate AB, 600 Hiex war &, St 77 Fehr siieel &

AR e | 150 | 300 | 350 | 400

AR (TR H) 100 | 200 | 250 | 300

i forg A T ST 400 @1 B T 430 dieE ¥ | 4 ek wier B e 0.01Q

fer 100 Hiex &, 1 A ot o faege uw I i |

A two wire DC distributor AB, 600 metre long is loaded as under :

‘Distanee from A (metres) 150 | 300 | 350 | 400
!Loads in Ampere 100 | 200 | 250 | 300

The feeding point A is maintained at 400 V and that of B at 430 V. If each
conductor has a resistance of 0.01 Q per 100 metres, then find current at the
end A. . (6+6)

Sfaer e it Tt faferl @1 ool Sifd wd @ o fefad |
Explain various methods of cable grading and write its advantages.
AT % e, A T Ud 5 1 a0 S |

Describe stringing up conductors, guys and stays. (6+6)

forer 3 @ Topll A e ittt Feofora feifed

Write short notes on any two of the following :

(1)

TR SR S ST

Errection of line supports

(i) far faaees

Ring Distributor

(iii) Hlaeil & o & EE!

Advantages and disadvantages of cables (6x2)
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